





When you need the most flexible system, choose from a wide variety of Tork centerfeed dispensing options with a range of capacities, colors and styles . . .

Tork Elevation Centerfeed Towel Dispensing Systems

Sleek black or white dispensers complement any environment, providing a clean, hygienic appearance. The design ensures easy and intuitive maintenance, refilling and use. The enhanced Pro feature enables an easy, one-handed operation and controlled consumption (limits over consumption and limits waste). Ideal for hand and light surface wiping.

Tork Watertight Centerfeed Towel Dispensing System

This water-resistant model keeps paper towels dry, even during washdowns. Manual feed knob is simple to operate for easy start-up after washdowns and reloading. The optional mounting bracket makes it convenient to move the dispenser for cleaning and sanitizing which helps reduce cleaning time.

Tork Performance Centerfeed Wiper Dispensing Systems

Durable dispensers, ergonomically designed to enhance performance. High-performing dispensers in either red/black or teal/white color combinations are optimized for Tork wipers and support the user in the task at hand. Great for cleaning and drying objects.

Tork ShopMax Buckets and Boxes

These convenient centerfeed packages are perfect when you need a portable solution for your wiping needs. Portion controlled for one wipe-at-a-time dispensing. Convenient solution and time savings – clean hands and surfaces are just a wipe away for on-the-qo, on-site professionals since no water or cleanser is required.

To help select the right centerfeed system for your needs, consider the following questions:



Where is the dispenser being used?

Portable or Fixed





Who will be using the dispenser?

Employee or Patron





3

What are your main tasks & applications?

Mostly hand wiping or mostly surface wiping/cleaning





How much capacity do you need?

Low (M1) Medium (M2)/(W22) High (W2)







2







TorkSelect[™] Elevation Hand Towel Centerfeed Pro-M2



SKU	Description	Color	Size H x W x D (inches)	Dispensers/Case
559020A	Tork Hand Towel Centerfeed Pro Dispenser	White	14.3 x 9.4 x 8.9 (36.5 x 22.9 x 22.7 cm)	1
559028A	Tork Hand Towel Centerfeed Pro Dispenser	Black	14.3 x 9.4 x 8.9 (36.5 x 22.9 x 22.7 cm)	1



	Refill	Description	Ply	lowel Size W x L (inches)	Iowels/Roll	Iowels/Case
	100230	Tork Premium Hand Towel Centerfeed	1-Ply DRC	7.7 x 11.8 (19.5 x 29.9 cm)	305	1,830
(3 CoLogo	121201	Tork Advanced Hand Towel Centerfeed	2	9 x 11.8 (22.8 x 29.9 cm)	600	3,600
🖪 🛟 scologo.	121202	Tork Advanced Hand Towel Centerfeed	2	8.2 x 11.8 (20.9 x 29.9 cm)	610	3,660
(a € € € € € € € € € € € € € € € € € € €	121204	Tork Advanced Hand Towel Centerfeed	2	7.6 x 11.8 (19.3 x 29.9 cm)	600	3,600
🖪 🛟 scologo	120932	Tork Advanced Hand Towel Centerfeed	2	7.6 x 11.8 (19.3 x 29.9 cm)	500	3,000
(3) Ecologo	120133	Tork Advanced Hand Towel Centerfeed	1	8.2 x 11.8 (20.9 x 29.9 cm)	1,000	6,000

TorkSelect[™] Elevation Hand Towel Centerfeed Mini Pro—M1



SKU	Description	Color	Size H x W x D (inches)		Dispensers/Case
558028A	Tork Hand Towel Centerfeed Mini Pro Dispenser	Black	13.0 x 6.8 x 6.5 (33.1 x 17.4 x 16	3.5 cm)	1
Refill	Description	Ply	Towel Size W x L (inches)	Towels/Roll	Towels/Case
Refill 121225	Description Tork Advanced Hand Towel Centerfeed	Ply 2	Towel Size W x L (inches) 8.3 x 11.8 (21.0 x 29.9 cm)	Towels/Roll 266	Towels/Case

TorkSelect[™] Watertight Hand Towel Centerfeed Pro-M24



SKU	Description	Color	Size H x W x D (inches)	Dispensers/Case
302283	Tork Hand Towel Watertight Centerfeed Pro Dispenser*	White	15 x 9.5 x 8.8 (38.1 x 24.1 x 22.3 cm)	1
	* MB302282 optional mounting bracket. (Please contact your local SCA represent	ative.)		



Refill Description Ply Towel Size W x L (inches) Towels/Roll Towels/Case (a) £60L0go. 121211 Tork Advanced Hand Towel Watertight 7.1 x 11.8 (18.3 x 29.9 cm) 600 3,600





TorkSelect[™] Performance Wiper Centerfeed—W2



SKU	Description	С	olor	Size H x W x D (inches)		Dispensers/Case			
653028	Tork Centerfeed Roll Dispenser	Red/	'Smoke	17.6 x 12.9 x 11.	8 (44.7 x 32.8 x	1			
653020A	Tork Centerfeed Roll Dispenser	Whit	e/Aqua	17.6 x 12.9 x 11.	8 (44.7 x 32.8 x	(32.2 cm)	1		
Refill	Description	Color	Ply	Sheet Size W x L (inches)	Wipers/ Roll	Rolls/ Case	Wipers/ Case	Optional Funnel	
570137	Tork Premium Multipurpose Cloth, 570, Centerfeed	White	1	12.6 x 15 (32.0 x 38.1)	160	1	160	202856	
197270A	TorkPremium Specialist Cloth Polishing Centerfeed	White	1	12.6 x 15 (32.0 x 35.1 cm)	450	1	450	202855	
530137	Tork Premium Cloth, 530, Centerfeed	White	1	10 x 12.6 (25.4 x 32.0 cm)	400	1	400	202855	
520337	Tork Premium Multipurpose Cloth, 520, Centerfeed	Grey	1	12.6 x 10.0 (32.0 x 25.4 cm)	500	1	500	202855	
510137	Tork Premium Cloth, 510, Centerfeed	White	1	10 x 12.6 (25.4 x 32.0 cm)	500	1	500	202853	
13244101	Tork Advanced Wiper, 440, Centerfeed	Blue	4	11 x 15.75 (27.9 x 40.0 cm)	375	2	750	202855	
192128A	Tork Advanced Wiper, 430, Centerfeed	White	1	9.8 x 15.2 (24.8 x 38.6cm)	300	2	600	202853	
130211B	Tork Universal Wiper, 330, Centerfeed	White	2	9 x 13 (22.8 x 33.0 cm)	800	2	1,600	202855	

TorkSelect™ Performance Wiper Centerfeed—M2



SKU	Description	C	olor	Size H x W x D (ir	nches)	Dispensers/Case			
659028A	Tork Centerfeed Roll Dispenser	Red/	Smoke	14.0 x 9.7 x 9.1	(35.6 x 24.8 x	23.2 cm)	1		
659020A	Tork Centerfeed Roll Dispenser	White	e/Aqua	14.0 x 9.7 x 9.1	(35.6 x 24.8 x	23.2 cm)	1		
Refill	Description	Color	Ply	Sheet Size W x L (inches)	Wipers/ Roll	Rolls/ Case	Wipers/ Case	Optional Funnel	
• 132451A	Tork Advanced Wiper, 440, Centerfeed	Blue	4	10 x 15.75 (25.4 x 40.0 cm)	190	4	760	202856	
130251A	Tork Universal Wiper, 330, Centerfeed	White	2	9 x 15.5 (22.8 x 39.3 cm)	325	4	1,300	202855	

^{*} Blue 202855 funnel shipped standard. Contact your SCA Sales Representative for additional funnel options.

Tork ShopMax Wiper Centerfeed Reusable Dry Wipe Bucket—W22





EcoLogo

SKU	Description	(Color	Size H x W x D (inch	Size H x W x D (inches)		
450340	Tork Advanced ShopMax, Centerfeed		Blue	17.5 x 9.0 x 10.7 (44.4 x 22.8 x 27.3 cm)			2
Refill	Description	Color	Ply	Sheet Size W x L (inches)	Wipers/Roll	Rolls/Case	Wipers/Case
450138	Tork Advanced ShopMax, Centerfeed W22 Bucket Refill	White	1	9.9 x 13.1 (25.1 x 33.2 cm)	200	2	400
450338	Tork Advanced ShopMax, Centerfeed W22 Bucket Refill	Blue	1	9.9 x 13.1 (25.1 x 33.2 cm)	200	2	400

Tork ShopMax Self-Dispensing Centerfeed Box



	Refill	Description	Color	Ply	Sheet Size W x L (inches)	Wipers/Roll	Rolls/Case	Wipers/Case
	450137	Tork Advanced ShopMax, Centerfeed	White	1	9 x 13 (22.8 x 33.0 cm)	200	4	800
Ì	450337	Tork Advanced ShopMax, Centerfeed	Blue	1	9 x 13 (22.8 x 33.0 cm)	200	4	800